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40K 21(0 | 36.6 49 0.0 0.0 0.0 o8| 861 0.0 24 0.0 24
50 1% 36 388 139 8.3 0.0 0.0 0.0[ 217 0.0 28 0.0 2.8
60R% 1% 3s| 236 5.1 5.1 0.0 0.0 0.0 333 26 5.1 26| 103
70 17[ 8 21.2 5.9 0.0 0.0 0.0 0.0/ 353 0.0 0.0 0.0 | 29.4
8oL E 6| 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0[ 50.0
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40E 161 222 3.1 1.2 0.0 0.0 0.0 398 19 1.9 0.0/ 168
50:% % 158 392 5.1 0.6 0.6 0.0 3.8/ 253 13 25 13| 247
607% 1% 110 522 3.6 0.0 0.0 0.0 18| 16.2 0.0 1.8 0.0 261
0% °o 388 3.3 0.0 1.1 0.0 0.0 178 11 6.7 22| 311
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omi (11 | 9.0
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BRKWICHEE OEbLHhEVZIETHR
BELLIEVAEETRE BRKWIIERH
afMfébEZL LWL
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70mE (39 | 26 00 26
80 LE (17 00 00 59
i G (1 524) 08 02 36
10K ( 2) 00 0.0 00
ome (26 | 00 0.0 00
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B GbH 188 37,168 6, 455 26, 408 3, 207 9, 813 1, 067 46
10 mkRiH 0 0 0 0 0 0 0 0
10 mfX 6 22,592 7,798 5, 500 2,833 7,000 627 0
20 E1X 31 25, 550 5,972 19, 806 1, 855 9, 037 587 187
30 K 19 35,776 2,947 26, 547 4,145 7,485 575 0
40 REIK 32 50, 227 6,192 46, 696 2,344 14, 850 4,192 94
50 X 48 51, 386 12, 209 37,795 2,317 13, 679 1,485 0
60 X 34 41, 048 9, 635 28, 853 3, 052 11, 587 942 88
70 K 15 29, 408 3, 869 16, 896 4,111 10, 701 125 0
ti 80 L 3 41, 354 3,021 29, 167 5, 000 4,167 0 0
% = G 202 36, 983 6, 932 26, 909 2,715 10, 958 172 224
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BIRY BEDOHERFYONRZM - FWHBITHD L, BETR, (RRE], [XBE], [tERK] ©
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(B)FY ZEOHBEEFIIAR]

(BGL 2 [)
n &t REE TER BEE A5 Z Dfth
& ) 1670 4, 466 1,141 796 1, 669 699 61
B GH 860 4, 320 1,345 598 1,758 479 49
10 R 1 3,000 3,000 0 0 0 0
10 %A% 39 4,787 1,028 731 1, 693 720 154
20 %A% 108 5, 322 1,777 530 2,092 817 59
30 AR 137 4, 926 1,099 607 2,388 735 10
40 AR 203 5,039 1,289 760 2,071 706 73
50 AR 150 5,019 1,244 891 2,146 480 83
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gﬁ i GH 810 4,611 937 994 1,579 919 72
10 R 2 5, 450 550 1, 000 1, 000 2,900 0
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